CURRICULUM COMPENSATION

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SPRINGFIELD HIGH SCHOOL AFTER SCHOOL TUTORING ACTIVITIES FOR THE 2023-24 SCHOOL YEAR ONLY, EFFECTIVE AUGUST 21, 2023, \$35.57 PER HOUR (23-24): (10-1100-0000-1341-498-4)

Oller, Tabitha

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL AFTER SCHOOL PROGRAM ACTIVITIES FOR THE 2023-24 SCHOOL YEAR ONLY, EFFECTIVE SEPTEMBER 1, 2023, \$35.57 PER HOUR (23-24): (10-1131-6151-1341-000-0)

Hunsely-Hunt, Stephanie

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LAKETOWN ELEMENTARY AFTER SCHOOL TUTORING ACTIVITIES FOR THE 2023-24 SCHOOL YEAR ONLY, EFFECTIVE AUGUST 21, 2023, \$35.57 PER HOUR (23-24): (10-1100-0000-1341-498-4)

Krell, Cheryl

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DUBOIS ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES OCTOBER 23, 2023, \$35.57 PER HOUR, 3.5 HOURS FOR A TOTAL OF \$124.50: (10-2210-0600-1341-531-4)

Tribler, Kimberly

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DUBOIS ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES OCTOBER 22, 2023, \$35.57 PER HOUR, 3 HOURS FOR A TOTAL OF \$106.71: (10-2210-0600-1341-531-4)

Tribler, Kimberly

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES NOVEMBER 8, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-531-4)

Foster, Carmelita

Hustedt, Isaac

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL COTEACHING ACTIVITIES OCTOBER 30, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-531-4)

Dold, Jena

Langen, Natasha

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES OCTOBER 23, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-531-4)

Durbin, Lori

Roark, Heather

Nestler, Tena

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES OCTOBER 16, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-531-4)

Durbin, Lori

Roark, Heather

Nestler, Tena

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES OCTOBER 2, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-531-4)

Durbin, Lori

Nestler, Tena

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL BACKWARDS PLANNING ACTIVITIES NOVEMBER 6, 2023, \$35.57 PER HOUR, 1.75 HOURS FOR A TOTAL OF \$62.25 EACH: (10-2210-4400-1341-531-4)

Benoit, Claire

Koustas, Madison

Coons, Roanna

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES OCTOBER CPI TRAINING ACTIVITIES OCTOBER 17 THROUGH OCTOBER 24, 2023, \$35.57 PER HOUR, 8 HOURS FOR A TOTAL OF \$284.56 EACH: (10-1200-6220-1165-000-0)

Dwyer, Rachael

Traw, Molly

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL BACKWARDS PLANNING ACTIVITIES OCTOBER 30, 2023, \$35.57 PER HOUR, 1.75 HOURS FOR A TOTAL OF \$62.25 EACH: (10-2210-4400-1341-531-4)

Benoit, Claire

Koustas, Madison

Coons, Roanna

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES OCTOBER 30 THROUGH NOVEMBER 9, 2023, \$32.26 PER HOUR, 14.5 HOURS FOR A TOTAL OF \$467.77: (10-3700-0000-1243-531-4)

Lamsargis, Kathy

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES SEPTEMBER 26 THROUGH NOVEMBER 2, 2023, \$32.26 PER HOUR, 12.5 HOURS FOR A TOTAL OF \$403.25: (10-3700-0000-1243-531-4)

Schrenk, Nancy

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START INCLUSION PROJECT MEETING NOVEMBER 7, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-6431-1341-481-4)

Haage, Leanne Lamontagne, Kristin
Havenar, Meri Servough, Carrie
Henson, Kristinah Tolsdorf, Kathleen
Justison, Mildred Watt-Brennan, Janine

Kieffer, Shelley

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START INCLUSION PROJECT MEETING NOVEMBER 7, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36: (10-2210-6431-1341-481-4)

Shaffer, Andrea

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MEDICAL DETECTIVES PROJECT LEAD THE WAY CORE TRAINING JULY 10 THROUGH JULY 14, 2023, \$33.88 PER HOUR, 40 HOURS FOR A TOTAL OF \$1,355.20: (10-2210-0000-1341-564-4)

Moore, Lindsey

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE AND HIGH SCHOOL MATH DEPARTMENT CHAIR MEETING NOVEMBER 6, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

C

Bradley, Rechad O'Bryen, Sheila
Horstman, Laura Silveri, Tracy
Myers, Erin Webster, Stephanie
Nicholas, Kelly Womble, Ashley

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE AND HIGH SCHOOL DEPARTMENT CHAIR MEETING NOVEMBER 1, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

0.75 hours	\$26.68
1.50 hours	53.36
1.00 hours	35.57
0.50 hours	17.79
0.50 hours	17.79
1.25 hours	44.46
0.50 hours	17.79
0.50 hours	17.79
0.75 hours	26.68
1.25 hours	44.46
1.00 hours	35.57
1.00 hours	35.57
1.25 hours	44.46
0.50 hours	17.79
0.50 hours	17.79
0.50 hours	17.79
1.00 hours	35.57
	1.50 hours 1.00 hours 0.50 hours 0.50 hours 1.25 hours 0.50 hours 0.50 hours 0.75 hours 1.25 hours 1.00 hours 1.00 hours 1.05 hours 0.50 hours 0.50 hours

XXI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES K-2 AUTISM PARAPROFESSIONAL TRAINING ACTIVITIES OCTOBER 19, 2023, FOR RATE SPECIFIED: (10-1200-6220-1165-000-0)

Brennan, Malissa	1.00 hours	\$17.72 Per Hour	\$17.72
Ewing, Alvin	1.00 hours	\$17.72 Per Hour	\$17.72
Underwood, Kelly	1.00 hours	\$21.79 Per Hour	\$21.79
Wulf, Jennifer	1.00 hours	\$17.72 Per Hour	\$17.72

XXII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR EARLY START INCULUSION PROJECT MEETING NOVEMBER 7, 2023, FOR RATE SPECIFIED: (10-2210-6431-1360-481-4)

Dickerson, Latasha	1.50 hours	\$21.14 Per Hour	\$31.71
Rockford, Jean	1.25 hours	\$30.25 Per Hour	\$37.81
Schneller, Brittany	1.25 hours	\$21.50 Per Hour	\$26.88

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ENOS CO-TEACHING AND INCLUSIVE PRACTICES SEPTEMBER 5 THROUGH OCTOBER 11, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Holler, Melinda	3.00 hours	\$106.71
Johnson, Kassandra	3.00 hours	\$106.71
Joyner, Abbie	6.00 hours	\$213.42

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AUTISM TOOLKIT PROFESSIONAL DEVELOPMENT OCTOBER 30, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Cox, Helen Kahl, Lindsay
Davis, Lisa Kim, Whitney
Decker, Corie Loken, Susan
Dockter, Emily Raynolds, Amy
Finney, Riley Rudd, Douglas
Jordan, Laura Sapetti, Camryn

Justison, Mildred

XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ILT MINI PROFESSIONAL DEVELOPMENT OCTOBER 25, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0000-1341-564-4)

Bell, Charlotte Mahinda, Stacy Billington, Leah Mccarthy, Caitlin Campbell, Melissa Mckneelen, Angela Crum, Milena Poss, Nichole Hays, Robyn Punke, Lindsay Hockenyos, Karen Riech, Allison Hood, Heidi Schudel, Mark Kincaid, Jessica Shaon, Spring Love, Brenna Vespa, Darci

C

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL ENGLISH BOOK CLUB NOVEMBER 2, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

- 6 -

Bishoff, Anne Koen, Rebecca
Fisher, Carl Negele, Lydia
Glisson, Alec Poe, Sarah
Jackson, Terrelle

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SITE MENTOR TRAINING NOVEMBER 2 THROUGH NOVEMBER 7, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Burke, Amy	1.00 hours	\$35.57
Burton, Emily	1.00 hours	35.57
Campbell, Lisa	1.00 hours	35.57
Cookson, Lelah	1.00 hours	35.57
Crow, Cynthia	1.00 hours	35.57
Daley, Melinda	2.00 hours	71.14
Eaton, Deborah	1.00 hours	35.57
Erickson, Carlie	2.00 hours	71.14
Gaffney, Lindsey	1.00 hours	35.57
Harness, Amanda	1.00 hours	35.57
Helton, Rachel	1.00 hours	35.57
Jachino, Rachel	1.00 hours	35.57
Johnson, Kassandra	1.00 hours	35.57
Kieffer, Shelley	1.00 hours	35.57
Laub, Jill	1.00 hours	35.57
Layne, Danielle	1.00 hours	35.57
Ligon, Tierra	1.00 hours	35.57
Love, Brenna	1.00 hours	35.57
Mccarthy, Caitlin	1.00 hours	35.57
Patterson, Jami	1.00 hours	35.57
Poppenhouse, Leslie	1.00 hours	35.57
Rotherham, Pam	1.00 hours	35.57
Scheffers, James	2.00 hours	71.14
Schurman, Jennifer	1.00 hours	35.57
Stahr Trimpe, Sarah	1.00 hours	35.57
Ziemba-Montavon, Tammy	1.00 hours	35.57

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MATHENY EMERGENCY LEADERSHIP RESPONSE TEAM MEETING OCTOBER 4, 2023, \$35.57 PER HOUR, .5 HOURS FOR A TOTAL OF \$17.79 EACH: (10-2210-0000-1341-564-4)

 \mathbf{C}

Bowman, Ashley Oseland, Mary
Delong, Michele Sapetti, Camryn
Detmers, Erica Stahr Trimpe, Sarah
Kincaid, Jessica Thomas, Sarah

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION GOOGLE MEET PROFESSIONAL DEVELOPMENT NOVEMBER 14, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0000-1341-564-4)

Beck, Melissa Landon, Jennifer Benoit, Claire Maley, Sarah Blunk, John Mcewen, Ara Boyd, Lisa Minder, Kelly Campbell, Lisa Pyle, Amy Creek, William Rotherham, Pam Davis, Lacy Schwab, Stephanie Dewitt, Beth Stubblefield, Brandy Eichinger, Amy Termine, Leslie Gairani, Rhett Tomasko, Kimberly Hale, Yacira Vogel, Carolyn Hockenyos, Karen Walk, Michelle Hunsley-Hunt, Stephanie Walls, Peter

XXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE AND HIGH SCHOOL TECH BUILDING LEADER STIPEND AUGUST 17 THROUGH OCTOBER 27, 2023, FOR RATE SPECIFIED: (10-2210-0000-1341-564-4)

Craner, Brian	1.00 Stipend	\$212.50
Cuzzort, Samantha	1.00 Stipend	250.00
Dickman, Barbara	1.00 Stipend	150.00
Faires, Austin	1.00 Stipend	8.25
Havener, Michael	1.00 Stipend	225.00
Jachino, Rachel	1.00 Stipend	250.00
Kleinertz, Larresa	1.00 Stipend	250.00
Nesbit, Angie	1.00 Stipend	62.50
O'Brien, Rhiannon	1.00 Stipend	25.00

XXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LINDSAY CO-TEACH PLANNING SEPTEMBER 14 THROUGH OCTOBER 19, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Freer, Jordana	3.25 hours	\$115.60
Fretz, Morgan	2.00 hours	71.14
Hays, Megan	2.00 hours	71.14
Johannes, Madison	2.00 hours	71.14
Nelson, Courtney	1.25 hours	44.46

XXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LINDSAY BACKWARDS PLANNING OCTOBER 30 THROUGH NOVEMBER 1, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Browning, Elizabeth	3.00 hours	\$106.71
Dresch, Kim	3.00 hours	106.71
Hays, Megan	3.00 hours	106.71
Hockenyos, Karen	1.00 hours	35.57
Lueking, Mary	3.00 hours	106.71
Milnes, Karen	3.00 hours	106.71
St. Aubin, Katrina	3.00 hours	106.71

XXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ENOS CO-TEACHING AND INCLUSIVE PRACTICES OCTOBER 16 THROUGH OCTOBER 27, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Holler, Melinda	1.00 hours	\$35.57
Johnson, Kassandra	1.00 hours	35.57
Joyner, Abbie	2.00 hours	71.14

XXXIV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION TEACHING AND LEARNING SYMPOSIUM NOVEMBER 8, 2023, FOR RATE SPECIFIED: (10-2210-0000-1341-564-4)

Bacon, Candice	2.00 hours	\$26.78 Per Hour	\$53.56
Boggs, Stacia	2.00 hours	\$24.65 Per Hour	49.30
Daniels, Kendra	2.00 hours	\$26.78 Per Hour	53.56
Hay, Corrie	2.00 hours	\$32.62 Per Hour	65.24
Means, Kendall	2.00 hours	\$31.71 Per Hour	63.42
Walker, Jaunice	2.00 hours	\$26.78 Per Hour	53.56

XXXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION TEACHING AND LEARNING SYMPOSIUM NOVEMBER 8, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0000-1341-564-4)

- 9 -

Austin, Monique

Bell, Charlotte

Berberet, Abigail

Berendes, Sheryl

Bland, Steven

Blankenship, Autumn

Lantz, Andrew

Logsdon, Alicia

Logsdon, Thomas

Londrigan, Amanda

Lueking, Mary

Mack, Jeanie

Brady Hanken, Kathleen Maggiore, Michelle

Brillhart, Sarah

Buyze, Margaret

Cacciatori, Lisa

Campbell, Lisa

Cantrall, Cassandra

Capranica, Amy

Maley, Sarah

Martin, Colleen

Mccarthy, Caitlin

Mccord, Sarah

Mckneelen, Angela

Mcparland, Damon

Miller, Claire Carder, Whitney Comerford, Janel Miller, Holly Cox, Heather Minch, Amy Creek, William Mitchell, Shanna Crow, Cynthia Moore, Lori Crum, Milena Neely, Gail Netznik, Melissa Dabbs, Kathryn Dalby, Derry Nolen, Emily Daley, Melinda Nolting, Jenny Darr, Shawn Norton, Heather Davis, Lacy O'Brien, Rhiannon

Deaton, Robert Poe, Sarah

Denzin, Rachel Poppenhouse, Leslie

Detmers, Erica Poss, Nichole
Dickman, Barbara Punke, Lindsay
Dold, Jena Quarton, Lori

Drennan, Emily Reynolds, Amanda Dukett, Jennifer Riech, Allison Eaton, Deborah Rodden, Katelynn Erickson, Carlie Rotherham, Pam Faloon, Aidan Rudin, Rebecca Flanagan, Kathy Schatz, Katie Gebhards, Laura Schaver, Maire George, Cynthia Scheffers, James

Teaching And Learning Symposium November 8, 2023, \$35.57 Per Hour, cont.

Gephart, Suzanne Schoedel, William Gordon, Tracy Schoppenhorst, Debbie

Greig, Anne Schudel, Mark
Harness, Amanda Schukai, Melissa
Harris, Nicolette Scott, Dawn
Havenar, Meri Shaon, Spring

Hayes, Robert Sheraden, Catherine

Heimlich, Kathryn Silveri, Tracy Hodapp, Brad Stewart, Pamela Holderread, Brooke Stewart, Shelley Hood, Heidi Suerdieck, Cristina Hunsley-Hunt, Stephanie Taylor, Leslie Israel, April Totura, Jessica Jachino, Rachel Traw, Molly Johnson, Rachel Vespa, Darci Jurgens, Mary Walker, Amy Kaiser, Aimee Walters, Amy

Kent, Jena Wilson, Krista Kent, Kyle Wollet, Jill Kincaid, Carrie Zaffiri, Alise

Kincaid, Jessica Ziemba-Montavon, Tammy

Kiser-Gruen, Nicole

XXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION INCLUSIVE PRACTICES COHORT 2 QUARTERLY MEETING OCTOBER 26 THROUGH NOVEMBER 26, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Barham, Ashley Mccord, Marguerite Bell, Charlotte Mcguire, Tracy Cantrall, Cassandra Mckneelen, Angela Childers, Tiffany Noll, Meghan Crumrine, Carrie Patterson, Jami Danner, Sarah Redpath, Sara Ethridge-Galloway, Tiffany Rodden, Katelynn Freer, Jordana Schukai, Melissa Guikema, Lindsay Schurman, Jennifer Hasquin, Jamie Sharpe, Jennifer

<u>Inclusive Practices Cohort October 26 Through November 26, 2023, \$35.57 Per Hour, cont.</u>

Hays, Megan Smith, Kelsie

Hughes, Lindsey Tomasko, Kimberly Hurrelbrink, Wendy Warren, Lillian

Logsdon, Alicia

XXXVII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION AUTISM TOOLKIT PROFESSIONAL DEVELOPMENT OCTOBER 30, 2023, FOR RATE SPECIFIED: (10-2210-0000-1341-564-4)

Bennett, Evonne	1.50 hours	\$21.94 Per Hour	\$32.91
Hughes, Gary	1.50 hours	\$20.34 Per Hour	30.51
Moore, Corey	1.50 hours	\$62.99 Per Hour	94.49
Rockford, Jean	1.50 hours	\$32.05 Per Hour	48.08
Thompson, Christine	1.50 hours	\$16.72 Per Hour	25.08
Van Ryn, Carmilyn	1.50 hours	\$17.86 Per Hour	26.79

XXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION K-2 SMALL GROUP COURSE #1 OCTOBER 25, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0000-1341-564-4)

Blankenship, Christie Martin, Bailey
Crumrine, Carrie Mceuen, Molly
Friday, Jessica Moore, Lori
Hendon, Wendy Nolen, Emily
Hubbs, Sally Patterson, Jami